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Exercise -5(a) solutions
we arenom

1.

988 M82:2AR

(i) re=10cm 922 ME: 2x22x10a
=440cm =6261aI

(ii) re =2.8cm TT:2x22x2.8cm=2x22x
=16 = 17.Gem

(ii) re=14c 22:2x22x14:88c

(iv) r=4.2a ME:2x22x4.2=26.4er



1.

-82ME: 2a
(i) EAM= 34.9 => 2x3.14r= 34.9

=76.28R=34.9 =7M == 5.5c
6.28

(ii) 2AR= 1047 - 2x3.141xr =1047

=>re-g:166.67 (approx

(iii) 2TR: 25.128 - 2x3.141xre= 25.128

->6.282r =25.128) re=e8=4
(iv) SxM= 15.705=7 2x3.141XR =15.705

->6.282xR2 15.705:7M =5 =3.5e



2.

atnlved
(a) r=560m 0:450 L= ?

r: 10):15x2422x56
2 =

44 are

(b) L:110m 0:750 M = ?

tre: 07 r: 110xxx=84m

(C) IR =9 dr,1:22dm O =?

In "2 =80"70
=x7

9
=2800



3.(a)

r=10.5cm L =11cm G =?

Ere= 50E**0-2x22x 105 I
=>0 =60° (Ans)

(b)

re= 2Icm 0 =720

bfar:Era"a"xax
7)I =26.Ya

1=622:26.4
ICS
1:HICM O =100

60I/r"furyacare"(***"gIM =63
=) R=63m



d.

R =1 1 =y 0 =1 M = ?

are "E600* *"50
-u =360e

e.

A a Day4282161462
i

* 684
B C

A AOD Ia AAGalo) A
0A2 + OBC:ADE

i) R2 + R2 =02

=- 212 =a2



4.

d =12530km

d Ad =

22 x12550

=22x 1790

=39,380km

5.

&22 a:5am a:2x22x5a
44m 4T 2g og2*

=108i C:(n =100cm]

=1408



6.

&12 9152 men:396m
2AR= 396m re

-

21512948 MEY:352m R

2xr = 352m
=) 25(R-r) =396-352
a) 2x22(R-R)

=44M

->REre:
a*7m

7.

1520 952:44m => 2x(R-r) =44m
-) 2x22(R-R) = 44m
I =DR -M =7R-94124-R+r=77m ->iis ↳is

(i) fiis->2R=84-5=35m 1I
25R= 2x 22 x 42 >AM:2x 22x35

=264m =220m



8.

Given re:R =3:4

Again 2A(R+R) =308 cm .

=>2x22(3n+4n) =308

R

->Fn =

xe 7

=>m =7 con 2
a9:R-R

=4n-3n =x =7em ( Ans)

9-

Given:2AR= 300m GAM= 200m

-2x(R-r) =300-200
->2xTTO (R-R) = 100 .

3 R-R =

5%
5TTOM

R



10.

-8 qH= Im

sits:2x22x7=44m
I

-9989462 YG 44m rugby

(Reg. Ans:1500 =250902 (Ane

11.

Given Meban? a* rly=42a=a
res = Ad =22x42a2
I

->was 269 geo Habano rise what al
=a n =

24x42 =22x6

I =132cm

Ga8 I M47602⑰186a& * God:He
zag abal &E

Given Alabama was I min60 80482-62
a->60ms 602 =60x80 NO2m2

->In 460s 132a uoal eat age
60x80e6_ 132x60x80a year a

=633600c =6336m

196442 699= 6336m yomg



12.

Given a gongasa Ger 4: I

ver Along age:i⑨02 =un
=8888268w : AON 468G
ageal 215 Me agbal 2
-)44Om 21f rnadal de"Id, aala Mod

⑧ Alawan analog as he
o e

According to the question -4 =15
4N

) 40 - 10 =15 -330 =15 - M =22m
I

9= 4x22 Add MY: M
=88m =22n



13.

/2962·91864al M8=15p per meter

Total 87= 22161-

garagecanon28at=>AR+2R= 288

9411= 2r =56x2= 112m) Ans)
14.

According tothe question ·

Call Care + re Eyal Ala
mal 1:10m 125

=6125

2AR al MO" > 2 x2AR=1x2422
r(2π+1 51

= 12x2x22
=24x22 - 5285

= 3m 48see (Ans)



15.

Gl& 698= 80m per minute

⑨99 4rGYG929-2a
982aY* =ar

2AR-2R =45 sec
5 5

-> ((5-1)
=

45min-r(22-1):1-
=

x5
=3 => ar:x7,80

=28m

16.

*19172 Gitgr=193653
->(9142:193613
-> aly

=x4 =44x2 =88m

deA2M11 5x88 ved
-> 22d =3x88

I
-d =

x8x7 =12x7
=0hm



17.

988 GHA:glyGrt A D

⑧

=20cm -

998 M52:ad
=3. 14x 20 B C

=62.8 an
18.

(I) 1
-

7A ↓

A
AD1BC

D

AD A ABCO2

D I·0 ·OI &o↳
B 42um

C
B 42 am C

*Haly A&M Gain A& goula,
2:1 4M462 10 962

=) A0:oD =2:1 Ab =x42:2153
A0 =1453 (I) radiuson:753 (II) radius

(I) 9 784:2x22x/VE (I)& M82: 2x22x7V3
E

=88 v3a
=443cm



19.

(a) Given (+2R:64cm => 2+42= 64cm
C:0A + 0B+ ExB) 0

=) L = 22cm
- i

1 = M O
RAR 360

= A B->

22x21360
=>0

=600 L

X

(b) 0 =400 2n+h= 26.98cm

Fire" to as"**:
Given (+2r= 26.98 => 6.28n + 2x9m =26.98

2) 24.28n
=26.98 =(n =1.12

24.28
rc =qu =1.12x9 F10cm



20.

O

are 60 Se 900
5em

I A
is

2x8125-50e
=

7.854c
H=2r+L

-2x5+ 7.854 =10 +7.854
=17.854 em



21.

⑧ P

- &2 - re
Me

400
re,

608

C D
A B

X
X

Let's assume

A*Bo Gwy:2, De Grain: La

, & eg"
=>4 =I zar, & 2 =1 x 2ar2

yaylalyx =La

-) I2AR,= I2ARg=I = 3 (m)



22.

O
60min= 3600

-

5 min =

380x5:300 R
R

=>0 =380 A B

=3 Ium"- x22x860
7

=>Exr"Ts => r =7x2 =Ma



23.

(I) (II)

Or 02

R2
R1 -

zou

A ic
in II) 1-oFre,"12LAR,

=>r, =12
2A

1118 482:7255, = 25x2= 120cm

Accordingto the question
(1)2 MER (I)& MER239u
#& R =

10 = 40cm



24.

Yay 92 A

Ga2929a2: >O

·64968 T
-

E D
C

Given 2 noes: 6.282em

-2AR =6.282em

->2x3.141XR =6.282-7r= 1 cm

70:0D =2:1 OD =1am => A0 =2am

AD:2+ 1 =3 cas

Aly A& 2841:V3xal=3

>aly:1x2 =2vg



25.

A

- 600

AD 1MN
R R

*D A AMN&
-
O

&Nt
B i C

! T - & AD =AB =AC

M D N 98894
In the Given diagram AB =AC

=>AM =AN

:) AAMN ON Aly A

** Agar & Gargaingutdown
2:16 ga be

OD =R =>AD =3R =R



25.

A

-

600

AD1MN

*D A AMN&
-
O

&Nt
B i C

! T ..& Ab=AB =AC

M D N 98894
Required Ratio

·wene

-ER- lis

R"==2AR8:AR
=

=ae
is can be written as

For( R=Gr)
=

=16
-Rua)=(Prawed)

7


